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Relative Yelocity
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A plane can fly at 100 miles/hour in still
air. If there is a wind blowing, what 1s
the speed of the plane relative to the
ground
¢ A) Less than 100 mi/hour
» B) More than 100 mi/hour

« C) 100 mi/hour

- D) Cannot determine with given
information



A plane can fly east at 100 miles/hour in
still air. If there is a strong wind
blowing west, what is the speed of the
plane relative to the ground
* A) Less than 100 mi/hour
* B) More than 100 mi/hour

+ C) 100 mi/hour

* D) Cannot determine with given
information



Interactive Question

A boat that can travel at 4 km/hr in still water crosses a
river with a current of 2 km/hr. At what angle relative to
the shore must the boat be pointed to go straight across
the river?

taa ..w. 27°
A)27° ﬁb)... u«- 63°
B) 30° % sm? ¥ =30
C) 60°
D) 63°

E) 90°



Interactive Question

A boat that can travel at 4 km/hr in still water crosses a
river with a current of 2 km/hr. At what angle relative to
the shore must the boat be pointed to get across the river
quickest? |

A) 27°
B) 30°
C) 60°
D) 63°
E) 90°



